Geercices for Chapleé (Everceses 64— 6.23)

Brercise 6.4, Let £0) = Eleq(ct D1, g =Eloxplity)]
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Exercete 6.14. Let (L2, Q;P) be a Pmba_/g—zét(g s pace—
o L0 (F) (h20) be qn/ }F{{HJ(ZE:*\ O C._QJ/. ), Trnthe
Jequel ot K= (£) (:20) acd H =(H,)(nz1 be Sequencel
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e L") I=1 2 Sleow tleat He £ & an (F)- mm-‘&gra;,&.
(Havt: Usetha teraGisu ZP-”OPWT’EL ot condtonal @c‘()eckz’nbu
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cess (eop(eNg (D)) (£2C) & a m arttogate Wit

D o . foonction (o) gemsrmtect by (N
(Hint - Ute Tlheovem 6,430 ot Cicercire 8.7 4

@;') \/er;-‘%‘ a(/;Yeof—%, et the pro cesd o btacredd v~ (&)

r.:; Qi ('J—:.) — m.c:_rfw-a,e_,&a, -
CH int? UL&M = [,_e)c[? CC,CN& —Ns)> {:T_; I = E [e’((’CC(Ne*NJ))]

nes. (O£S28) fince Ny — Ny & indepedent of Fead
[ggmfoolg'r A = ,eaéwfootx//g_:ma/ Sl‘: C@._J);M _(*c_r-»'r‘t ‘F:—_[
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Exercise 6.19. Trove (6.44P,
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'(7&»0. Locferva_04 J_Cfa):=[(2t—1)7c—-?f/z 5 G- + W/Za])
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=1 Y
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Exercase 6.20. A process Z‘e‘——ZoerO(t)) =0
(Z,=0) & okcevvesl at e pointa t=01,2es, T, wlae
(X)) & a Lety process ofjump—clifferion type as
in Exanple £.5.2.. et H, (2) olec otethe null h/po--
Hegsin it Says Heat thee exirl e, c=2, NZEO
cd i fbuton Q. on R, satafylng Q (10)=C
Ol Wat OCQ & alfociatrid o1l o(,c,k)w( @1"
(Note theot Ho (2) (oo a mwu:'t? c{:ﬁaa‘: Lrom that
wh the beginning of §6.5 ) Let Ho (2) be regected of
[E /T = Bo(] =0 (see (6-100) ol (81500 Let e
level of S’f‘“ﬂm,{{:i‘cukcg_, be O.4. (N gt thoregjeclion

of- Ho (2) ety oo reje cton sf M'Lﬁomg that
CE{;) & a Black- Selhioles ?br‘ocffﬂ" (/\avw'v:j Va{at.;(-:'[/l"f;
Z2,( tee (6. 2P).) Hod /ﬁa«—g,o.m T be? CAuscer:

T> AF15.)
[Symbols: o= alpha, A=Lawbda, D s wide bilde (11

Execcese .24, A process Zy= expl&Xe), 20 (F>C
e, observed akt 'tMPOJlL'G -&*'—-—O/i,z./‘--) 'T'/ tese
X(. = o+ + 7:) += 0. ffere, * e ; (7;) Loa COMPOM
Porteon (or CP—)procesd asssesaizd vt NP0 oused
&L = N(/u;d’?) (tee EExav—ple & . A 2. S-’u.ippofew

[ the wicll[nypoHmesiv Ho (5 &) (N0, %0 ato be tasked,
erbadn, saya thoat thoe exat e’ p EF AZX e
o= o* cucde Tt XE =wt + T (£=20), Mc("q) & e
CT7- pro cess asociated withe N and Elq - Verify that
tho tast owtled o Exercise 6.1Fyotiad. refecl

Ho(26¥) of | Lo /7 R0 201, & not applicatte =
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o netter how The Lol o{l!@,‘.cjcf'cahc@ O< p,< 4
5 efofen .
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Le’t}_c) procedt .("Mﬁdf‘fj H o(?\ﬁ@‘*“)), Ufe. Exerceie {1o@). ]
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i'EPCtirof_Ce_ é.- 220 S Cfe e ObsServe a procCese
'Zt_ =Zo@<{"@t+ & X, ), T20 (Zo? O at Acumwe
pOinte b=, ilz/...)'T'. et (Xo) be a ganuwa
f)roCess e e ’P&rfulm_ef?(‘f o ol A ounel CON s/ der
(o v Example 6.5.5) thae radl by o Hhesis Hy (e 4%)

o\rﬁ,ue_ B:’to) C*'—To"\*“—‘-‘ i) A*:2)2P0=U=O-4) “"':4-)
m(l‘{t/,eog’l@) (rec‘a_gﬁw /&Dg

@)-_S,L\.Oww w Thata f’cec{'c'ufz case- € Casr- Aoose.

3 = Uog 4O 24
(L) +How Lo rge a3 the tine Aorizon T 1o Lo & |

CAasvers T=2429  (ouslead of T Z25¥2uih Ex‘“‘/”eéﬁfb
[g/ w\lao'S'f (:L =mu, 0(_-:0_[_,,1&&/ A = jDeH-ﬂ-/ K‘—"—-—ectmiadﬂ/
T=pC D! = Va/r‘gfgma_j

Exerccse 6+.2.3. Provethe :f.o((omicj e /erV\ehJ-a«r_g
resec Ut (Lemma 4.6.7): Let a,, Az jeee be real
Wicmlsery Ceicely Y ot O L=< d (n=1) od Zah< 8.
Theem "

STaE — O (£

I’\:‘—']



